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ETV ���������ก	
 ��
��������ก��� PAT 3 �.������� ��������� ��� 	�ก�
��!� Physics Intelligent 1 

��������	� 9 ����
������ก����������	� 
1.  ก���	
�	�������#���	��$%�ก!$
ก��&
'�� 4 !$
)
�*!+����,�����-�	..�/��'�0'-0� ก�-
�1�
+2'
	���3 

45,���!6����'�ก����'�,��&�,%�ก%$
���,��+��5�%$
�$
&+���&6�ก	  48/50 ����&� &	
� 4 !$
ก��&
'�� )
�%$
 C �3<�
%$
ก5,�ก'���-=�6��%$
 A 0'- B %�=��6��	��������@'�,� / %$
 C #��ก��&
'��!$
*
&�,���6���ก&�,�$
 

 
 

2. '�ก �'=�	ก 10 kg ��ก3'6��%�ก�D�0=�6�=�$
��,�*=+�ก'�*�0��
�,�%�ก=�+�2� )
���0���+��&��#��
��ก����&�, &D�*=+*!+�-�-��'�&	
�=�
 5 S %5��ก�5���
� 0'-ก6��ก�-& ��
�'�ก �'�����������&6�ก	  30 
m/S �+��D�'�ก �''�ก��
3'6��*=+�ก'�*� 6��
D����0��
�,�%�ก�D�0=�6�=�$
��,� %�=���������#��'�ก �'
ก6���กก�-& ��
� 6��
D� กD�=�
*=+0���+��&��#���
D��6�'�ก �'���6��3<� 2 �&6�#��0���+��&��#��
��ก�� 0'-�-�-��'�&�,'�ก �'�
��&��*� 6��
D�ก6��ก�-& ��
��&6�ก	  10 S (PAT 48)  

 

 

 

 

 

 

 

 

3. ����ก���=�5,��+��ก����'�กก�'�L*=+#+���+���+45,���� 30 m 0'-���6=6����ก�3 40 m �3*=+'�='$���
� 
)
�='$����6=6����ก�3 80 m �+����'�กก�'�L�3 / &��&D��$��&6�*
ก	 0���-
	  

 

t = 5 S t = 10 S 



���������	�ก��� 
���������������� 9-15 

 

ETV ���������ก	
 ��
��������ก��� PAT 3 �.������� ��������� ��� 	�ก�
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4.   �	��$��' 0.5 kg ��ก���%�ก%$
 M 
+���	������� 50 m/S &D��$� 30o 3��กO�6��	��$�ก&�,%$
 A ��
� �+��+��ก�����
�	��$��

+���$����0'-��'��
���ก	�*=+�ก&�,%$
 E %-�+������	��$��

+���	��������&6��� (PAT 48) 

 
 

5. ������กD�'	�0'6��#+�)�+�45,����	��� 100 m 
+��������6���&�, 
	�0�
�*���3 � �6�&�,�D�0=�6� A �����	������� 
10 m/S 0'-&�,�D�0=�6� B �����	��������3<� 20 m/S ���ก&�� �6�&�,�D�0=�6� B ������%-��������6�'	�Q�
�3<��&6�*
 (PAT 48) 

 
 
6.   ����ก�2�+=�5,��+��ก���	
���)�+�&�,���	�������)�+� 500 m ���,�*=+��0'6��
+)
�3'�
�	� 0�+*�#/-&�,�� 

S��ก���'�,�&�,���������� 90 km/hr �#�%-�+���	
���*=+�����&D��$�ก	 0���-
	 �&6�*
 (PAT 49) 
 

7. &��ก'���' 6 kg =�$��� *�0���-�� &D��$� θ  ก	 0ก�0��
�,� �!��ก%-#�
���,�����
5�*���+��!��ก
�&6�ก	  100 N กD�=�
*=+������6����,��%�ก0��)�+��6��#��)'ก���6��&6�ก	  10 m/S2 �	��������!���$�#��
&��ก'����,��!��ก#�
���6��&6�ก	 �&6�*
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��������	� 10 ����
������ก����������	�(���) 

1.   ��� #.#�,%	ก����&�,��'+�%	ก����#��
��+�26�������ก'�� 80 4�.�&6�ก	�&	
� 2 '+� �3 �������ก��� �#� 
��
����,���	
�� ก��=�$�#��'+���+&�,'+�=�+� ='	�%�ก#�,���3�
+ 10 ��&� � �6�'+�=�$��3 1,000 ��  

	��	
����������@'�,�*�ก���� ��%	ก����#����� #. �&6�ก	 ก�,ก�)'�����6�!	,�)�� 

1.   4.8 π  2.   2.4 π 

3.   1.2 π 4.   0.6 π 
 

2.   ��� ก.�+��ก���������#+��L�ก�'��0��0� �3&6��
D�&�,���6���#+��ก	���
� ��� ก.3�-�����6��#�*!+0��
�������&D�*=+��������#�������&6�ก	  25 �����6���&� ��� ก.*!+��'�*�ก���������#+��L�ก 3 ��&� 
���������
D�*��'��#/-�	
��&6�ก	  15 �����6���&� �'��0��0� !6���	
�������ก�+���&6��� 

1.   100 ���� 2.   80 ���� 
3.   60 ���� 4.   40 ���� 

 

3.   '�ก �'��' 1 ก�)'ก�	� ��ก��-)
��
��
 � �0Z� 
	�0�
�*���3 �+�*�#/-�	
���ก�-0�'��	
�+��'�ก �'
*�0���� ��6����,D����� �3<�0��#��
��&�, 5 ����	� ���ก&�� �6�'�ก �'%-��'�,��&�,�
+�ก'�$
�&6�*
*�
0����  (PAT 48) 

 
(Script )%&��#+���
�6��%�ก)%&��)3��%��&'�Q���
����&�,�	���������6�*�0��0ก� x) 
 

4.   ������กD�'	�0'6��#+�)�+�45,����	��� 100 m 
+��������6���&�, 
	�0�
�*���3 � �6�&�,�D�0=�6� A �����	������� 
10 m/S 0'-&�,�D�0=�6� B �����	��������3<� 20 m/S ���ก&�� �6�&�,�D�0=�6� B ������%-��������6�'	�Q�
�3<��&6�*
 (PAT 48) 
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5.   �	��$!�
�=�5,���'�,��&�,�3<���ก'� )
�*�#/-&�,��%��/� �	��$��#��
#����������0'-������6� 
	���3 %�=�
�	�������)�+�#����+�&��ก����'�,��&�, 

 
 
6.   3`��6���+��ก�����&D�ก�����'�กก�-�$�)
�&D��$���� 53o %�ก0���-
	  0'-���,��ก	
'�ก�-� �
&�,��ก3'6����

%�ก����,�� ��&�, ��
+���������� 450 km/hr '�ก�-� �
%�ก����,�� ���ก'���ก�-& ก	 '�ก3`�&�,�-�- 500 m 
*�0��
�,�%�ก����,�� �� %�=������������,��+�#��'�กก�-�$�3`�&�,��ก3'6����ก%�ก��
�
�� กD�=�
*=+ 
�D�0=�6�&�,����,�� ��3'6��'�ก�-� �
���-�-=6��%�ก3`��6���+��ก����� 2,000 m *�0���-
	  (PAT 49) 

 
 
7.   �������ก���� ���
�5ก 0'+�)��'�ก �'��ก�3 2 '�ก )
�)��'�ก �''�ก0�ก��ก�3ก6��
+���������� 

25 �����6�����&� &D��$� 53O ก	 0���-
	  0'+�%5�)��'�ก �''�ก&�, 2 ��ก�3���='	�*�0���
���ก	�
+��
���������&6��
�� 0�6&D��$� 37O ก	 0���-
	  � �6� �'���'�ก�
+!�ก	�ก'����ก�� %�=��6��D�0=�6�&�,'�ก
 �'!�ก	�=6��%�ก�5ก���0���� &�,�-�-ก�,���� กD�=�
*=+�6�������6����,��%�ก0��)�+��6��#��)'ก�3<� 
g = 10 �����6�����&�2 
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��������	�  11 ������� kinetics 

1.   �=���.��กก'�
��3 ���
�&�,������S̀
��6���3<�����- )
���6��ก����' �����3 &��&��#��0������
&��&�,��
�
%-�3*�&��&��*
 

1. �3&��4+�� 
2. �3&��#�� 
3. ��6��0������
&�� 
4. ��6��#+���'��&�,%-0ก+3c.=��
+ 

 

2.    %�ก��3*=+กD�=�
0�� 150 ����	� ก�-&D��6�'+������������' 20 ก�)'ก�	� ��+�26�������ก'�� 1 ���� )
�
0��0��ก�-&D����6*�0����  0'-26��%$
�����ก'��#��'+� 0'-ก'6����,�='�,��&�,#���'+����6��������� 10 
�4������� �+���6��
0������
&��*
d #+�*
�6��3��
ก'6����ก�+�� กD�=�
*=+ g = 10 �4��������6�����&�2 

 
 
 

1. '+�ก'�
�#+��ก'6���
+��
� 
2. '+�%-ก'�
�#+��ก'6���3�
+� �����,��%�ก0��&�,��ก���6���กก�6�0���+��&�,�$
&�,&D�*=+'+�#+���
+��
� 
3. '+���6������ก'�
�#+��ก'6���
+����-0��&�,��ก��6��ก�� 
4. '+�ก'�
�#+��ก'6����6�
+���,��%�ก0��&�,��ก�+��ก�6��
D�=�	ก#��ก'6�� 
5. ��
��6�
+����-#+���'��6������� 
 

3.   ก'6����' 10 ก�)'ก�	� �	
����6��,� �6�����ก0�� 100 ����	� ��
5�)
�&D��$� 37O ก	 0����  �+�&�,2���	�2	��-=�6��

ก'6��0'-��
�#�$#�-���	�3�-��&Q�e#����������
&������0'-%'�� �&6�ก	  µs = 0.75, µk = 0.5���'D�
	   
%�=��6�ก'6��%-���	��������&6�*
���,���'�26���3 2 ����&� (sin 37O = 0.6, cos 53O = 0.8) 
 

 
1.  5 �����6�����&� 2.  10 �����6�����&� 
3.  12 �����6�����&� 4.  14 �����6�����&� 
5.  0 �����6�����&� ����-0��&�,��
5���6��ก��&�,%-&D�*=+ก'6����'�,��&�,�
+ 

10 ก���ก��� 

37O
 

100 ������ 
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4.   ��!	,��	�=�5,� �	���!	,������' 2 ก�)'ก�	� �+�����3�����' 5 ก�)'ก�	�45,����6���%�3��� 30,000 ����	��6�
���� ���!	,� 0'+����4+��
+���	��$��' 60 ก�)'ก�	� ���,�&$ก��6�����6��,�0'-���6*����-��
$' 0'+�%-�6��
�6�#����!	,��
+ก�,ก�)'ก�	� 

 
 

5.   %�ก�����,�&�,กD�=�
*=+ %�=�)�������� %$
 A (��6�+����
�
D�=�	ก#�����) 
1.  50 ����	����� &������#����h�ก� 
2.  50 ����	����� &��&���#����h�ก� 
3.  75 ����	����� &��&���#����h�ก� 
4.  80 ����	����� &��&���#����h�ก� 
5.  80 ����	����� &������#����h�ก� 
 

 

6.   %�ก��3 %�=�)�������� %$
 O 0'-�$�&�,%-&D�*=+�ก�
)���������&�,�$
 

1.  MO = 10 3  - 15, θmax  = 143O 

2.  MO = 20 3  - 15, θmax  = 143O 

3.  MO = 10 3  - 15, θmax  = 127O 

4.  MO = 20 3  - 15, θmax  = 127O 
 

7.   %�=�0��
5��!��ก#���-  �6��3��
 กD�=�
&$ก2���	�2	�'�,���6��0������
&�� กD�=�
*=+ g = 10 �����6�
����&�2 

1.  50 ����	� 
2.  25 ����	� 
3.  5 ����	� 
4.  10 ����	� 
5.  20 ����	� 
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8.   %�ก��3 ���,���6��
0������
&���-=�6����'ก	 ��
� #+�*
��ก�+�� 

 
1.  0��
5�*���+��!��ก�-=�6����' m1 0'-��' m2 ���6��+��ก�6�0�� F 
2.  ���,���' m1 ��กก�6���' m2 0��
5�*���+��!��ก�-=�6����'���6���กก�6�0�� F 
3.  ���,���' m1 �+��ก�6���' m2 0��
5�*���+��!��ก�-=�6����'���6���กก�6�0�� F 
4.  0��
5�*���+��!��ก�-=�6����' m1 0'-��' m2 ���6���กก�6�0�� F 
 

9.   %�=�0�� P &�,�+��&�,�$
&�,%-&D�*=+�	��$���,���'�,��&�,)
�&�,�6��	�3�-��&Q�e��������
&�������� µs = 0.5  0'-

�6��	�3�-��&Q�e��������
&��%'�� µk = 0.4 
1.   400 ����	� 
2.   450 ����	� 
3.   500 ����	� 
4.   900 ����	� 
 

10.  %�ก��3 '�ก �'��ก2�ก��
ก	 �!��ก A 0'- B  ��L��&�,��������6� a �+������5��!��ก&�, A ��กก�6� B  2�&6� %�
=�#��
#��������6� a 

1.   
3

g
a =  

2.   
32

g
a =  

3.   
33

g
a =  

4.   
3

2g
a =  

11.  )�����+���	 �
D�=�	ก0'-0�� 3�-ก� 
+��0#��	 0�� (truss) &	
�=�
 9 0#� �!�,���6�ก	�
+��=�$
&�,���
*=+0#��	 0��0�6'-0#�=�$��
+�� ��� 6 %$
 
	���3 &�,%$
 B ��0��ก
*�0��
�,� F 0'-&�,%$
 G ���
D�=�	ก 
W 0#�����6 =�ก�+��ก��*=+)�����+���������������*�ก���	 0��*�'	ก1/-
	���3��+�
+ 0#��	 0��
0#�*
��6�������	
��ก�
+ 

1.   0#� CG 
2.   0#� BC 
3.   0#� BE 
4.   0#� EG 
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��������	�  12 ������� kinetics (���) 

1.   ��' 2 ก+����ก�5
��

+��'�
)'=- B 
	���3 )
�'�
)'=-
	�ก'6��������������&�0��
5��&6�ก	  10,000 
N/cm2 �+���'&	
������ก
5�#5
�
+���	�����6� 10 m/S2 %��D���/=���
�&�,=�+��	
�+��&�,�$
#��'�
)'=- B  
&�,%-������&�0��
5�&�,�ก�
#5
��
+��6��3'�
�	� กD�=�
*=+�6�������6� ���,��%�ก0��)�+��6��#��)'ก  
g = 10 m/S2 0'-��6��
�
D�=�	ก#��'�
)'=- B (��
�&�,=�6���3<�������4�������) (PAT 3 3o 53/2) 

 
1.   4 cm2 
2.   40 cm2 
3.   0.4 cm2 
4.   400 cm2 
5.   2 cm2 

 

2.   ��'���ก+�� �5
��
ก	�
+���!��ก�
D�=�	ก� �
	���3 กD�=�
*=+�	�3�-��&Q�e#����������
&�������-=�6����
�
0'-��'���6��&6�ก	  0.25 )
���6��
��'#����ก0'-��ก��6������S̀
 %�0��
5� F &�,&D�*=+�	��$���,���'�,��&�,�3
&��4+����
� (กD�=�
*=+�6�������6����,��%�ก0��)�+��6��#��)'ก g = 10 m/S2) (PAT 3 3o 53/2) 

1.   80√2 

2.   70√2 

3.   60√2 

4.   50√2 
5.   80 
 

3.   &��ก'�2������ ��,D�������' 20 kg �����,����6 ���
������
	���3 %�=�#��
#��0��3O�ก�����&�,��
�ก�-&D�
�6��	��$&�,%$
�	�2	� A 0'- B (กD�=�
*=+�6�������6����,��%�ก0��)�+��6��#��)'ก g = 10 m/S2) (#+���  
PAT 3 3o 53/2) 

1.   NNNðN
BA

200,
75sin

100 ==
  

2.   NðNNN
BA 75sin

100,200 ==
  

3.   
NNNðN

BA
100,

75sin

200 ==
 

4.   
NðNNN

BA 75sin

200,100 ==
  

5.   NNNN
BA

200,100 ==  

T 

1.5 ��� 

B

2 ��� 
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4.   %�ก��3 %�=�)�������� %$
 O 0'-�$�&�,%-&D�*=+�ก�
)����������$
 (PAT 3 3o 49) 

 
 
5.   ก��L0�
������	��	�Q��-=�6��0�� F 0'-)������#��0�� F �� %$
 A #��)�����+��
	���3 �����

'	ก1/-�3<���6���� (��6��
�
D�=�	ก#��!�
����)  (PAT 3 3o 53/2)  

 

 
6.   %�ก��3กD�=�
*=+0�� 150 ����	�ก�-&D��6������������' 20 km ��+�26�������ก'�� 1 ���� )
�0��0��

ก�-&D����6*�0��0��ก�-&D����6*�0���� 0'-26��%$
�����ก'��#��'+� 0'- ก'6����,�='�,��&�,#���'+����6��
������� 10 �4������� �+���6��
0������
&��*
d #+�*
�6��3��
ก'6����ก�+�� กD�=�
*=+ g = 10 �����6�
����&� (PAT 53/1) 

 

150 ������ 
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1.   '+�ก'�
�#+��ก'6���
+��
� 
2.   '+�%-ก'�
�#+��ก'6���3�
+� �����,��%�ก0��&�,��ก���6���กก�6�0���+��&�,�$
&�,&D�*=+'+�#+���
+��
� 
3.   '+���6������ก'�
�#+��ก'6���
+����-0��&�,��ก��6��ก�� 
4.   '+�ก'�
�#+��ก'6����6�
+���,��%�ก0��&�,��ก�+��ก�6��
D�=�	ก#��ก'6�� 
5.   ��
��6�
+����-#+���'��6������� 

 

7.   %�ก��3 %�=�#��
#��0�� P &�,ก�-&D�*�0���� 26��%$
�����ก'��#��&��ก�- �ก&�,����' m �	��� r 0'+�
&D�*=+&��ก�- �ก���,�ก'�
�26��ก'6����,�='�,��&�,��������� h กD�=�
*=+2���	�2	���6��0������
&��*
d 
(กD�=�
*=+�6�������6����,��%�ก0��)�+��6��#��)'ก�&6�ก	  g ) (PAT 3 3o 53/2)  

1.  
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8.   )�����+���	 �
D�=�	ก0'-0��3�-ก� 
+��0#��	 0�� (truss) &	
�=�
 9 0#��!�,���6�ก	�
+��=�$
&�,���*=+
0#��	 0��0�6'-0#�=�$��
+�� ��� 6 %$

	���3 &�,%$
 B ��0��ก
*�0��
�,� F 0'-&�,=�$
 O ���
D�=�	ก W 
0#�����6 =�ก�+��ก��*=+)�����+��������������*�ก���	 0��*�'	ก1/-
	���3��+�
+   0#��	 0��0#�
*
��6�������	
��ก�
+ 

 
1.   CG   2.   BC  
3.   BE   4.   EG 

P 
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��������	�  13 ������� kinetics (���) 

1.   ก'6��=�	ก 15 ����	� ��ก'�ก�3�����
�&�,���	�3�-��&Q���������
&�� 0.1 )
�0�� P = 50 ����	� &�,&D��$� 

θ = 60o 
+���������� 3 km/hr �3<���'� 1 ��&� %�=����&�,�ก�
%�กก��'�กก'6���3<��&6��� (PAT3 52/3) 
1.    375 
2.   1,250 
3.   1,625 
4.   75 

 

2.   3'�ก�='�ก A ��' 20 ก�)'ก�	���ก�5
��

+���3��� 0'-������6*�0&6��='�ก)�+�'�,�
	���3 �+�3'6��3'�ก
�='�ก%�ก%$
 A *=+��'�,��&�,�3���0&6��='�ก %�=���������#��3'�ก�='�ก���,���'�,��&�,26��%$
 B 
กD�=�
*=+�6���&�,�3��� k = 200 N/m �������3�ก��#���3����&6�ก	  1 ���� 0'-2���	�2	�#��0&6��='�ก
ก	 3'�ก�='�ก'�,���6��0������
&�� (กD�=�
*=+�6�������6����,��%�ก0��)�+��6��#��)'ก g = 10 m/S2) 
(#+���  PAT 3 3o 53/2) 

 
 

3.   �����������������#	 ��'�,��
+������,���������6�#��
 200 kW 0'-��3�-��&Q����#������,��ก'�&6�ก	  
0.8 �+�����,��������������+��0��2'	ก����$
�
+�&6�ก	  2 kN %�=��6��������	���
��������,��
+��������
����$
�&6��� 
1.   288 km/hr 2.   320 km/hr 
3.   360 km/hr 4.   466 km/hr 

 

4.   �������&�,*!+
5�'�ก�$+��D�=�	 ��ก����#����กD�'	� 50 kW 45,�*�ก����ก0�6'-��	
� '�ก�$+��='�ก%-��ก
5�#5
�

+���	���������,D����� 2.5 m/S �3<��-�- 5 ���� %�ก3'������#�� �+�'�ก�$+���6��ก��ก�-
��#5
�%�ก
����#�����='	�ก��ก�-0&ก0'+� %�=��6�����#��%-%�'�
��'5ก�&6�*
���='	�ก����ก0�6'-��	
� �+�0��
�+��&���@'�,�#��
�����6� 125 kN 0'-����#������' 500 kg (#+���  PAT 3 3o 53/1) 
1.   20 cm 2.   40 cm 
3.   60 cm 4.   80 cm 
5.   100 cm 

θθθθ 
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5.   �������	�=�5,�0'6�
+���������� 40 km/hr 0'+�=+��'+��$
0��&D�*=+����'�3�
+�ก' 2 ����ก6��%-=�$

���& =�ก�������	��
���ก	���
0'6�
+���������� 80 km/hr 0'+�� �ก
+��0���&6��
�� ��%-��'�3�
+�ก'ก�,
����%5�=�$
���& (#+���  PAT3 3o 50) 

 
6.   ��������' 3�600 ก�)'ก�	� �ก�
�$ 	���=�$��,��#+�!�&+���� ��&$ก�� '+�&�,%�
��,�
+�� �������� 60 km/hr 

0'-�ก�
ก���	
�	��-=�6��ก��!��3<���'� 0.01 ����&� ก6��&�,%-ก�-
��ก'	 *�&��&�����ก	�#+��
+��
�������� 40 km/hr *�#/-&�,�� ��&$ก�	������6*�����-=�$
��,����,��%�ก����'���ก�6���'#��������
��กd %�=�0���	
�	��@'�,�&�,ก�-&D�ก	 ������*�#/-�ก�
ก��!� (PAT 3 3o 52) 
1.   2.0 MN 2.   7.2 MN 
3.   10.0 MN 4.   36.0 MN 

 

7.   !����=�5,�=�	ก 75 ก�)'ก�	� กD�'	�4�
��	p�#5
��������,�#+��L�ก&�,&6���-%	�&�� �#��	��ก��6�����กD�'	�%-��ก
%�ก&6� 
	��	
��#�%5���,�ก�-)

#5
����� ��������&�,�#���,�ก�-)

#5
������&6�ก	  2.5 �����6�����&� �
D�=�	ก����
0'-�
D�=�	ก ��&$ก#/-�	
��&6�ก	  3,000 ก�)'ก�	� ก��ก�-&D�
	�ก'6��%-&D�*=+�����='�3
+����������
�&6��� *=+��
�6��
D���6�������+��&�� (PAT3 52/3) 
1.   0 km/hr 2.   0.15 km/hr 
3.   0.22 km/hr 4.   0.225 km/hr 
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2 m 

1 m 

h 

 

 

��������	�  14 ������� kinetics (���) 

1. �	��$=�5,� !	,�
+����!	,��3���0  0#��*� ����ก��3ก�� %-=�	ก 100 N 0�6���,��D��3%$6��
D�%-!	,��
D�=�	ก
�
+ 75 ����	� ����=��0�6��	��	&Q�#���	��$��
�&6�ก	 �&6�*
 
1.  4.0 2.  4.5 
3.  2.5 4.  1.25 
 

2. )3q-�&�� ������3ก'6����,�='�,��2��2+�=�	ก 12 �	� ����
�&�,����	 2�+)
�����&6�ก	  30 ��������� %�=�#��

#������������#��)3q- h ก�,�4������� ���,�*=+����	 2�+)
����*=+�
+ 100 �� กD�=�
*=+�
D�=�	ก�@'�,�#��
2�+)
����0�6'-�����6��&6�ก	  60 ก�)'ก�	� 0'-*=+)3q-���6��&�,���6�+�2���
D��6��6��&�,%��
D��3<� 1:2 (PAT3 
53/1) 

 
3. �	��$ก+��=�5,�3'6��*=+%�'��3=�$
��,��-=�6��!	
�#���='� A 0'-�
D� )
�&�,�	��$%-%�'�*��
D� 50 

�3����4����#��3�������	��$ ='	�%�ก�	
�����	��$ก+���
���ก	�3'6��*=+%�'��3=�$
��,��-=�6��!	
�#��
#���='� B 0'-�
D� %�=��3����4���#��3�������	��$&�,%�'�*��
D�*���	
�='	� กD�=�
*=+�6�����
�6��%D����-#��#���='� A 0'- B �&6�ก	  0.8 0'- 0.7 ���'D�
	  (PAT 3 3o 50) 

1.  43.8 
2.  57.1 
3.  62.5 
4.  66.7 
 

 

4.   �	��$&��ก��������ก'� ��#��
��+�26�������ก'��&�,��� 1 ���� 0'- ������� 2 ���� ������=��0�6� 
0.5x103 kg/m3 '���	�*�#���='�&�,������=��0�6� 1.0 x 103 kg/m3 )
�*=+3'����
03'����6
+��'6�� 
�-�-����'5ก&�,3'��0='�#��ก���%�'��3*�#���='��	
��3<�ก�,���� (PAT3 53/1)  

1.   
2.   
3.   
4.   
5.   
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2 m 

1 m 

1 m 

 

 

 

5.   �	��$&��ก�����#��
��+�26�������ก'��&�,��� 1 ���� 0'-������� 2 ���� ��'��*�#���='�&�,������
=��0�6� 1.0 x 103 kg/m3 )
�*=+3'����
0='����6
+��'6�� �+��-�-����'5ก&�,3'��0='�#��ก���%�'�
�3*�#���='��	
��&6�ก	  1 ���� ����=��0�6�#���	��$&��ก�����
�&6�ก	 ก�, kg/m3 (PAT 3 53/2)  

1.  125 
2.  130 
3.  135 
4.  140 
5.  145 

 
6.   ='�
0ก+� ����,D�������3�	� U ����
�&�,=�+��	
�6��ก	�����&6��+��*!+����
	� P1 �&6��� ���,�*=+�-
	 #��

#���='����#+��0�ก�6��ก	� 7 ���� )
�����=��0�6�#��#���='�&�,  1 0'- 2 �&6�ก	  6.0 x 103 kg/m3 
0'- 3.0 x 103 kg/m3 ���'D�
	  )
�#���='�&�, 2 ��������� 4 ���� กD�=�
*=+����
	� ����ก�� 100  
ก�)'3����' ���,� 1 3����' �&6�ก	  1 N/m2 0'-������6����,��%�ก0��)�+��6��#��)'ก g = 10 m/S2  
(PAT 3 53/2) 

1.  20 x 104 
2.  30 x 104 
3.  40 x 104 
4.  50 x 104 
5.  60 x 104 

 

7.   �	� ��%$�
D�45,�������=��0�6� ρ kg/m3 �����'�กd &�,
+��#+��#���	� 45,��-
	 �����6���ก�6���
��3<��-�- h2 
���� �-
	 �
D����6���ก�6���
��3<��-�- h1 ���� %�=��	�������#��'D��
D�&�,�$6���ก%�ก���	
�������,��$6� 
กD�=�
*=+��
+��#+������
�&�,�+����ก���,��&�� ก	 ��
�&�,#���
D�*��	� (PAT 50)  

1.   
2.   

3.   

4.   
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8.   �+��+��ก����+��=��	���� &�,&D�*=+�
D�&�,%$
 C ������
	� 2  ��� �+����+��=�*=+��������� h ก�,���� ���,�*��	� 
���
D� ��%$��� 1.5 ���� กD�=�
*=+ g = 10 m/S2 ����
	� ����ก���&6�ก	  96 kPa 0'- 1 bar = 100 kPa 
(PAT3 53/1) 

 
 

9.   �+��������������3�	� U ��'	ก1/-
	���3 )
�#���='�&��
+��4+��#��='�
����
D� �+��-
	 �������#��
#���='��3<��3�����3 ����6�#���='� A ����3<�#���='�3�-��&*
��ก&�,�$
 ���,���%��/���������
�$/�� 	��
+��'6�� กD�=�
*=+����=��0�6�#���
D����6� 1,000 kg/m3 (PAT 3 53/1) 

 

���$ %������&�'� (kg : m3) 

�
D��	�กu�
 820 
���&��='� 420 
)������='� 570 
0��)������='� 625 
�
D��	���ก�&� 700  

 

1. �
D��	���ก�&� 2. �
D��	�กu�
 
3. 0��)������='� 4. ���&��='� 
5. )������='� 
 

10.  ก��&
'��=��6������5�2����Q�=�5,����*!+�!��ก&D��3<���'�� �2��#���='� 0'+�2�กก	 ���
	���3 %�ก2'
ก��&
'��#��#���='�!��
=�5,����,�*!+���!��ก45,������������+��� �� 20 �4������� ��'&�,&D�*=+��
�!��ก='$
%�ก2��#���='���
��3<� 2g 0'-�	����6��������� x:y �3<� 1:2 �����*=+�#��ก0'-���&�,*!+� �
��ก %�=��6������5�2��#��#���='���
 (PAT3 3o 50) 

1.  0.025 N/m 
2.  0.2 N/m 
3.  0.01 N/m 
4.  0.04 N/m 
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��������	�  15 �ก������ !"	���
�ก�� 

1. �	�'�#��
*=.6��3������ 5.6 m3 ����
	��	� ��/� 1500 kPa ���6*���,�0�
'+��&�,���$/=���� 27oC �+�*!+�	�

	�ก'6��*�ก���	
'�=6�����������%�ก����-&�,��6����ก�����*�%���3������ 0.28 m3 0'-����
	��	� ��/� 
300 kPa ����6�%-����'�����
+����$
ก�,��+� กD�=�
*=+�6���&�,#����ก�� = 0.28 kJ/kg-K (PAT 3 53/1) 
1.   1,000 2.   800 
3.   100 4.   80 
5.   40 
 

2. ��=ก'+�&D�=�+�&�,#��6��	�0กu�2���-=�6����ก4��%�0'-��)���%� &�,���	
�6��)
�3������ 60:40 )
�
�	�&�����
	�����$
&�, 600 ก�)'3����' 0'-�
D�=�	ก ��&$ก����$
#��0กu���� 300 ก�)'ก�	� ����6�#+�*

�6��3��
%-��#��
3����/�5� ��%$0กu�*ก'+�����ก	 &�,����ก��D���/�
+��ก&�,�$
 �+��$/=����#���	����6&�, 300 
������'��� (�6����	�#��0กu� = 8.3 J/mol-K) (#+���  PAT 3 52/3) 
1.   32 m3 2.   41 m3 

3.   56 m3 4.   82 m3 
 

3. %�=���'#����ก��&�,���6*�=+��#��
 4 m x 3 m x 5 m &�,�$/=���� 27 �����4'�4��� 0'-����
	� 100 
ก�)'����	' กD�=�
*=+ ��')��'ก$'#����ก���&6�ก	  29 ก�)'ก�	��6�ก�)')�' �6����	�#��0กu� (gas 
constant) ���6��&6�ก	  R kJ/kmol.K (PAT 3 50) 

1.   
R

6,444.44
  2.   

R

580
 

 

3.   
R

644.44
 4.   

R

5800
 

 

4. ก�- �ก��  ��%$0กu���)���%��+ก=�	ก 0.5 ก�)'ก�	� ���,��+�'�ก�� ���6��,�ก	 &�, )
�������
	��3<� 200 
ก�)'3����' ���$/=���� 400 ������'��� 
	�0�
�*���3 �+���ก��*=+�����+��ก	 ก�- �ก�� 
	�ก'6��%�
'�ก�� ��'�,��&�,
+������
	���&�,%��5��D�0=�6�&�,ก	
� %�ก�	
�����
	����,�#5
�%����6��3<�����&6�#������

	����,��+� %�=����&�,&D�)
�'�ก��  (�6����	�0กu���)���%� = 0.3 kJ/kg-K) (PAT 3 52/3) 

1.   60 kJ 
2.   120 kJ 
3.   180 kJ 
4.   240 kJ 
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5. %�ก��3�	��	
����
	�0#��0������	� �	�0�ก������6���*��	�&�,��� �����	
����
	� A �	
����
	�#���	�

+��*��6���6��
+ 500 ก�)'3����' *�#/-&�,����
	��	� ��/�#���	���ก�&6�ก	  500 ก�)'3����' 0'-
����
	� ����ก����ก�	��&6�ก	  100 ก�)'3����' %�=��6������	
 B %-�6���6��&6�*
 (PAT 3 52/3) 

1.   0 kPa 
2.   100 kPa 
3.   400 kPa 
4.   900 kPa 

 
 

6. �+��
D� 4 ก�)'ก�	�&�,����
	� ����ก�� 100 ก�)'3����' )
�S�=�+����
D�=�	ก 6.3 ก�)'ก�	� 0'-��+�26��
�����ก'�� 0.1 ���� %�=��6�����
	�#�����
D�&�, ����/2�����6��3<��&6�*
 �
D�*�=�+�%5��ก�
ก���
��
 
(#+���  PAT3 3o 50) 

1. 100 ก�)'3����' 

2. 104 ก�)'3����' 

3. 108 ก�)'3����' 
4. 110.8 ก�)'3����' 

 
 

7.  *�60กu�2���-=�6������ก�� 1 ก�)')�' 0'-Z��'��� 2 ก�)')�' *��	� ��%$0#���ก������,��+�0กu�2����
�$/=���� 300 ��'��� 0'-����
	��	� ��/��3<� 83 ก�)'3����' �+�*=+�����+��ก	 �	�%����$/=����  
600 ��'��� ���ก&�� �6��	� ��%$0#���ก��������#��
�&6�*
 0'-����
	��	� ��/�����3<��&6�*
  
(�6���&�,��ก'#��0กu� Ru = 8.3 ก�)'3����'-'�ก ��ก�����/ก�)')�') (PAT 3 3o 53 ��	
�&�, 2) 
1.  90 m3,  166 kPa 2.  60 m3,  166 kPa 
3.  90 m3,  110 kPa 4.  60 m3,  110 kPa 
5.  90 m3,  90 kPa 

 


